Sandvikens BK

Fyrmannaligan, omg V halvl 1 2014-05-06

IMP over faltet, 12 bord, 24 par. Antal brickor: 12.

Plac Par  Poang Namn MID Klubb
1 17 351 Lars Ericson - Christina Ahl 12536 3140  Gavle BK
2 23 2.48 Lars-Goran Ostlund - Jan Fransson 2995 12537 Géavle BK
3 12 2.34 Annica Ek - Maud Larsson 34812 31539  Sandvikens BK
4 1 1.33 Lennart Persson - Kent Maltein 2978 15967 Gavle BK
5 16 1.30 Vera Enbarr - Tore Enbarr 3045 3044  Sandvikens BK
6 19 1.05 Christina Ostlund - Laila Diring 28118 17016  Sandvikens BK
7 14 0.42 Per Hedemalm - Marton Loke 580 15691  Sandvikens BK
8 18 0.31 Per-Erik Jansson - Reine Wahlén 2974 3072 Gavle BK - Sandvikens BK
9 5 0.26 Jan-Ola Jonsson - Lars-Gunnar Svangard 3050 11682  Sandvikens BK
9 21 0.26 Anders Eriksson-Glad - Hans Hedman 3038 8203 Sandvikens BK
11 3 0.06 Bertil Larsson - Bertil Selinder 2998 3023 Sandvikens BK
12 10 0.05 Lars Borgefeldt - Hans Rinnstrom 115 7768 Sandvikens BK
13 15 -0.05 Ronny Tornberg - Hakan Carlsson 10934 20008 Sandvikens BK
14 22 -0.06 Hans Olsson - Curt Hammarberg 3036 3040  Sandvikens BK
15 4 -0.26 Sara Ostling - Alf K&gstrom 20907 33288  Sandvikens BK
15 20 -0.26 Peter Larsson - Mats Sodercrantz 33870 31544  Sandvikens BK
17 7 -0.31 Herman Dotzauer - Walter Dotzauer 3006 3000 Sandvikens BK
18 11 -0.42 Borje Persson - Anders Asplund 9904 9906 Sandvikens BK
19 6 -1.05 Helge Berglund - Thure Forsvall 49628 49631 Sandvikens BK
20 9 -1.30 Claes Tengdahl - Sven Hoglund 3029 17820 Sandvikens BK
21 24 -1.33 Stig-Ove Holgersson - John Johnsson 2993 81465  Sandvikens BK
22 13 -2.34 Karin Nylén - Alice Hedstrom 49633 33747  Sandvikens BK
23 2 -2.48 Johnny Karlsson - Lars Karlsson 20903 24249  Sandvikens BK
24 8 -3.51 Stig-Goran Olsson - Per-Inge Karlberg 10326 7318 Sandvikens BK
1 & KKn6 Basta kontrakt 2 49 Basta kontrakt 3 4954 Basta kontrakt
Nord v 763 34 O =-140 Ost v 10832 54 O =-450 Syd v ED97 3v V =-140
Ingen + Kn86 NS + Kn107 ov 732
#D1098 & ¢ v & NT £87643 & ¢ v & NT &E74 & ¢ v & NT
4 ED1097 85432 N66 7 47 4 D10653 4 E84 N6 4324 & EKn7 « D102 N45 454
v2 vD84 S6 6747 v5 vYEKKN976 S 6 4 3 2 4 v52 v KKn643 S 45 454
¢+ D742 ¢ E5 O6 76 96 ¢ E932 + K65 O6 9 9 118 ¢K1095 +64 0989 88
»E63 #KKn5 V67596 D102 &Kn V6 9 9 118 #DKn103 #K92 V989 838
a- & KKn72 & K863
v EKKn1095 vD4 v 108
+ K1093 + D84 + EDKn8
*742 #EK95 #865
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
12 13 44 V-1 v3 50 430 -43.0(20 5 3NV-3 #8 150 85.0 -85.0| 6 19 Pass 20.0 -20.0
18 7 44 O-1 3 50 430 -430| 6 19 4v0-2 &A 100 740 -74.0| 8 17 Pass 20.0 -20.0
20 5 44 0-1 vA 50 43.0 -43.0|11 14 2v O+1 K -140 9.0 -9.0 (11 14 Pass 20.0 -20.0
21 4 44 V-1 w7 50 430 -43.0(12 13 34 V= *7 -140 9.0 -9.0 (15 10 Pass 20.0 -20.0
23 2 44 V-1 ¥3 50 43.0 -43.0|16 9 2v O+1 &A -140 9.0 -9.0 (21 4 Pass 20.0 -20.0
24 1 44 V-1 93 50 430 -43.0(18 7 1laV+2 3 -140 9.0 -9.0 (23 2 Pass 20.0 -20.0
6 19 34 V= v6 -140  -11.0 11021 4 2vy O+1 &K -140 9.0 -9.0(22 3 INV= 49 -90 -12.0 12.0
11 14 34 O= ¢3 -140  -11.0 11.0|23 2 2y O+1 &A -140 9.0 -9.0(12 13 1v N-2 &9 -100 -12.0 120
16 9 34 V= v3 -140  -11.0 11024 1 2v O+2 K -170 -3.0 3.0|18 7 INV+1l 2 -120  -18.0 18.0
22 3 4vS-3 ¢4 -150 -11.0 110 8 17 44 V= ¢J -420  -70.0 70.0|24 1 INV+1 w7 -120  -18.0 18.0
15 10 44 O= YA 420  -79.0 79.0|15 10 4y O= #A -420 -70.0 70.0|16 9 INV+2 &4 -150 -30.0 30.0
8 17 5vDS-4 «A -800 -135.0 135.0|22 3 4v O= &K -420  -70.0 70.0|20 5 INV+2 w7 -150 -30.0 30.0
4 #1095 Bésta kontrakt 5 » EK432 Bésta kontrakt 6 a2 Bésta kontrakt
Vast v Kn108 54 N D -2 -500 Nord vE72 44 N =620 Ost v DKn9854 3v S =140
Alla + 107 NS + E65 ov 4 76532
#K10642 & ¢ v & NT &E7 & ¢ v & NT &4 & ¢ v & NT
« EDKn7 #K8632 N9 6 435 a4Kn97 &8 N 5 6 10109 & 753 4 Kn98 N4 49 8 4
v65432 vD9 S 96435 vDKn6 vK8 S 5 6 10109 v10 v 7632 S 44984
¢+ EK ¢ Kn653 O4 6 8 108 ¢ K9732 ¢ Kn108 076 334 ¢ EDKNn104 ¢ K9 097355
#EKn »53 V 4 6 8 108 »65 #Kn1098432 V 7 6 3 3 4 #KKn75 #ED102 V97355
a4 4 D1065 4 EKD1064
v EK7 v 109543 vEK
+ D9842 +D4 +8
«D987 KD #9863
Par  Kontr Ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
12 13 24 V+1  ¢7 -140 97.0 -97.0|16 9 4vy N+1 &J 650 10.0 -10.0(15 10 4v N+1 K 450 95.0 -95.0
23 2 24 O+1 ¢2 -140 97.0 -97.0|21 4 44 N+1 ¢J 650 10.0 -10.0|23 2 4y N+1 ¢K 450 95.0 -95.0
21 4 34 V+1l 2 -170 88.0 -88.0| 6 19 44 N= ¢J 620 -2.0 2.0|12 13 24 S= vT 110 7.0 -7.0
6 19 44 O= ¢2 -620 -240 24.0| 8 17 44 N= ¢J 620 -2.0 20|18 7 24 S= vT 110 7.0 -7.0
18 7 44 V= *T -620 -240 24.0|11 14 44 N= ¥5 620 -2.0 20|20 5 24 S= vT 110 7.0 -7.0
22 3 44 0= vK -620 -240 24.0|12 13 44 N= &8 620 -2.0 20|22 3 24 S= vT 110 7.0 -7.0
8 17 44 V+1 v -650 -35.0 35.0|15 10 44 N= &J 620 -2.0 20|24 1 44V-1 42 100 6.0 -6.0
11 14 44 O+1 v¥K -650 -35.0 35.0|18 7 44 N= ¢J 620 -2.0 20| 817 34 S-1 T -50 -38.0 38.0
15 10 44 O+1 vA -650 -35.0 35.0|20 5 4vy N= &J 620 -2.0 20|11 14 34 S-1 T -50 -38.0 38.0
16 9 44 O+1 vA -650 -35.0 35.0|22 3 44 N= ¢J 620 -2.0 20|16 9 34 S-1 +A -50 -38.0 38.0
20 5 44 O+1 vA -650 -35.0 35.0|23 2 44 N= &J 620 -2.0 20 6 19 24 S-2 vT -100  -53.0 53.0
24 1 4e V+1 o7 -650 -35.0 35.0|24 1 44 N= &J 620 -2.0 20|21 4 3#0= #K -110 -57.0 57.0
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7 4 K6 Basta kontrakt 8 43 Basta kontrakt 9 4932 Basta kontrakt
Syd v75 44 V =-620 Vast v ED986 44 V D -1 100 Nord v 942 5NT O =-660
Alla + KKn1073 Ingen 42 ov + E986
#KD103 & ¢ v & NT &#EKNn1054 & ¢ v & NT #1083 & ¢ v & NT
«DKn2 #E10843 N4 46 3 4 4 DKn8742 & E65 N 106 104 9 & K76 & Kn1085 N3 2332
v 642 v EK S446 33 v K5 v10732 S 106 9 4 9 vKD87 *EI10 S32332
¢ED6 49854 O0O8 9 7 109 +8 ¢+ KDKn1073 O 2 6 2 9 3 + DKn32 ¢ K105 O 9 11101011
&#E865 #97 vV 8 9 7 109 D872 &»- V262293 &54 &#EKKN9 V 9 10101010
4975 4 K109 & ED4
v DKn10983 v Kn4 v Kn653
*2 + E965 ¢ 74
&Kn42 #K963 D762
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
16 9 5¢DO-4 ¢vQ 1100 165.0 -165.0 (15 10 54DV-3 vA 500 88.0 -88.0| 8 17 3NV= +6 -600 15.0 -15.0
12 13 3v S= &5 140 57.0 -57.0|23 2 44DO-3 vJ] 500 88.0 -88.0(12 13 3NO= »6 -600 15.0 -15.0
22 3 44 0-1 vQ 100 47.0 -47.0| 8 17 44DV -2 A 300 38.0 -38.0(15 10 3NO+1 2 -630 3.0 -3.0
619 24 O+1 vQ -140 -16.0 16.0|18 7 44DV-2 ¢4 300 380 -38.0|16 9 3NO+1 ¢3 -630 3.0 -3.0
15 10 24 O+1 2 -140 -16.0 16.0(12 13 3¢ O-3 v4 150 0.0 0018 7 3NO+1 6 -630 3.0 -3.0
21 4 34 0= *2 -140 -16.0 16.0|22 3 44DV-1 &#A 100 -15.0 150(20 5 3NO+1 3 -630 3.0 -3.0
23 2 34 0= *2 -140 -16.0 16.0(24 1 44 V-2 ¢2 100 -15.0 15.0(23 2 3NO+1 46 -630 3.0 -3.0
18 7 INV+2 oK -150 -16.0 16.0( 6 19 44 V-1 +vQ 50 -33.0 330 6 19 3NO+2 %6 -660 -9.0 9.0
20 5 INV+2 w7 -150 -16.0 16.0(11 14 4v O-1 vJ 50 -33.0 33011 14 3NO+2 3 -660 -9.0 9.0
8 17 24 O+2 2 -170 -25.0 25.0(16 9 44 O-1 vJ 50 -33.0 33021 4 3NO+2 ¥5 -660 -9.0 9.0
11 14 INV+3 +J -180 -26.0 26.0(21 4 464 V-1 3 50 -33.0 33.0|22 3 3NO+2 &2 -660 -9.0 9.0
24 1 464 O= vQ -620 -122.0 122.0(20 5 34 V+1l ¢4 -170 -90.0 90.0(24 1 3NO+2 &2 -660 -9.0 9.0
10 4 K83 Basta kontrakt 11 443 Basta kontrakt 12 4 D1097654 Basta kontrakt
Ost v Kn975 ANT S =630 Syd v 942 5¢ S =400 Vast v5 5v V =-450
Alla + K875 Ingen + K543 NS + Kn4
&E8 & ¢ v & NT #D1083 & ¢ v & NT &KD10 & ¢ v & NT
a7 4 96542 N 108 101010 498 &#KKn10765 N 9 117 6 9 s E3 @- N51 282
vKD104 v 63 S 108 101010 vK763 v DKn85 S 9 117 7 9 vK976 vEDKn108 S 5 1 2 8 2
¢ EKn1094 ¢ D6 035323 + D8 + 106 04166 2 ¢+ K8632 ¢ D1075 O 8 11115 7
#1032 #9765 V35323 &#K7542 &9 V416286 2 &76 &#EKn83 vV 8 11115 7
« EDKn10 4 ED2 & KKn82
v E82 vE10 v 432
¢ 32 ¢ EKn972 +E9
&#KDKn4 #EKn6 #9542
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 14 3NN+1 ¢Q 630 17.0 -17.0|22 3 3NS+2 49 460 20.0 -20.0|16 9 6v V-1 &K 50 106.0 -106.0
12 13 3NS+1 9 630 17.0 -17.0| 8 17 3NS+1 49 430 8.0 -8.0(12 13 44 N-1 vA -100 70.0 -70.0
15 10 3SNN+1 #4 630 17.0 -17.0|11 14 3NS+1 &2 430 8.0 -8.0(11 14 44DN-1 v4 -200 440 -44.0
16 9 3NS+1 ¢9 630 17.0 -17.0|12 13 3NS+1 &2 430 8.0 -8.0(22 3 44DN-1 ¢7 -200 440 -44.0
18 7 3NS+1 ¢J 630 17.0 -17.0|16 9 3NS+1 49 430 8.0 80| 6 19 4y O+1 +A -450 -24.0 24.0
20 5 3NS+1 vK 630 17.0 -17.0|18 7 3NS+1 &5 430 8.0 -8.0(15 10 4v O+1 2 -450 -24.0 24.0
22 3 3NS+1 ¢4 630 17.0 -17.0|20 5 3NS+1 4«9 430 8.0 -8.0(18 7 4v O+1 ¢A -450 -24.0 24.0
6 19 3NS= *J 600 6.0 -6.0(23 2 3NS+1 49 430 8.0 -8.0|20 5 4y V+1 &K -450 -24.0 24.0
21 4 3NS= +4 600 6.0 -6.0 (15 10 3NS= v3 400 -3.0 3.0(21 4 4v O+1 8 -450 -24.0 24.0
23 2 3NS= *J 600 6.0 -6.0(21 4 3NS= «9 400 -3.0 30|23 2 5v 0= *A -450 -24.0 24.0
24 1 3NS= T 600 6.0 -6.0|124 1 3NS= &2 400 -3.0 30|24 1 5v 0= a2 -450 -24.0 24.0
8 17 6NN-2 ¢Q -200 -143.0 143.0| 6 19 2NS+2 49 180 -67.0 67.0( 8 17 5vDV+1 #K -750 -96.0 96.0
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